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(A)105 7t (B)210 7t (C)315 75(D)305 7T 30 |45 |45 |70 |60 |30

BEHT:(45+30+30)x3=105%x3=315 7z °
(€)2. —IREFER 170 AR - ZFIEHBENMEF7B#E  EF 2 AR EFENER
22HAR? (A)24 AR (B)12 AR(06 AR (D)18 AR -
BENT:(170-2)+7=24 - 24+4=6 AR -
(B)3.42 1 R=( )YE10»rH7 -
(A)4.2 (B)42(C)420 (D)4200 -
BBiT4.2 AR=420 17 - 420+10=42 -
(C)A6.071E=( )E( )&?
(A6 27 & (B)6 1270 E(C)6 1= 700 E(D)6 & 7000 & -
#247:6.07 x 1000 E=60700 E=6 {& 700 & -

( A)5.12 RfT 475 R5e-2 AT 595 Ae=? 2em

(A)9kg880g(B)10kg880g(C)9kg120g(D)10kg120g - - // \\
fEHT:12475-2595=9880 252 =9kg880g / \
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(A)16cm?(B)32cm?(C)48cm? (D)64cm? -
AT AR =SB+ AT EW-2=12+8+-2=16 % - B—HKE2 4 FEF LD
16X4=64 EHAH -
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(B )7. TRSUE NF 2 8545 nREGRIFE - BRI L7 3 10 o7 4R - fhitF%EE
ARHELIBZARIERE? (A)S /N 35 72(B)4 /IR 25 73(C)5 /hig 25 73(D)4 /NI
357

TR 100-2K45 0=4K 257

(A)8. EEE LRVEEE 7 —B¥  BrRKBAZ/VRE?

#lZ:The short stitch on the bell turns a lap and a half, indicating how
much time has elapsed?

(A)18 hours(B)90 seconds(C)12 hours (D)90 minutes -
AT R RN - B —BRR 12 /0 - I LE¥FBE=212+6=18 /)5 -

(B )9. ERentRE] /- NHRITEF—HER FRAME AN E - thHZDESRNTS
NEFL 24 pRrVER TR - /AR EREITREIE T 507
(A)43 7t (B)36 7t (€)23 7t (D)15 7T »

AT ETETRE (B )
am —EE| ®2L203 | 219~50g | 5lg~ 100g |101g ~ 250g|251g ~ 500g
£iF 8 16 24 40 72
ﬂ; FREF 15 23 31 47 79
¥ omw 28 36 44 60 92
RS 35 43 51 6/ 99
£i5 6 11 16 32
Ep | R 13 18 23 39
Al
& | R 26 31 36 52
R EHESE 33 38 43 59

TR R B —MRE - BRESREK 24 A5 - REBEREILUER 36 7T -
(C)I10. 1 W MEWFE 68 LT AllE=0n2—% R MOVREBFHEL8 L
fr- MFEEAT? (A)0.6 2T (B)0.7 2fr (C)0.8 AT (D)0.9 &fT -
fENT:6.8-4.8=2 - 2X3=6 - 6.8-6=08 AfT °
(A)11.1008xO+0=2018 - kO=?
(A)2 (B)3 ()4 (D)5 -
fENT:2018+(1008+1)=2 -
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(D)12. 12 EEEM 72 B+E5HEREZD?
(A)840 &(B)192 &(0)84 &(D)1920 & -
#1200 2+720 £=1920 & -
(C)13. EE W 1 AEE 30 B - et EEHF 12 FisteEHF 5 - EkEz)h
E?(A)150 E(B)120 E(C)210 E(D)180 & -
AR 12 BISE RIS - BT 7 RKHE - 30x7=210 K -
( C)14. BAREEEA -AFNRME ErE?
(A =ERAESEIZ30E 30 E - 90 EB)=KEH—ERCONAFZ 180
ED)EmEIERA -
BIm(A)=RNBEDEIZ45E 458 - 90 EB)RAMEHE Q) EED) EMERERS -
( B)15. Dise=EamER - BEREKX/NEES - BAA)EEETB)ZFEF(C)
HEIBEF (D) EEEF -
BT ESEENERD TETESWNEL - AN A/NEHEE -
( D)16. M MNER—ESE=—AK  HIEAZEEAN—F @ [RAEZEZVE?
(A)42 E(B)45 E(C)55 E(D)36 E -
BT 180+(1+2+2)=36 & -

( B)17.28 AFMIBRAIKTES %1 7 BBT - SERTIESOHAH?
(A)4 ATHB)A0 HATHC)0.4 HAFHD)A00 HAT -
RAT28+7=4 AFt - 4 AFH=40 HAT -
( A)18.400%25 KyHEAEZ ME 07
(A)A 1EI(B)5 EI(C)2 fEI(D)3 f -
fEAT:400x25=10000 - 54 {& O -

IMC BRI EnE QERYE $£38/ H48 WWW.imcct.net



(A )19 REFEEBEAFE - —RITERZ 21000 70 - MNR7 8 HATH - BHAFET 2630
- I—RE TS BN E R’ EZ D IT?
(A)—RATE - EBEH 40 7u(B)n BT - EH 40 jo(C)—Xf1E - #E 60 7t(D)
DT BEH 60 T -
fEMT:2630x8=21040 - 21040-21000=40 - —RTELLBEEH - FH 40 7t -
( €)20. 1 E#FENF 7 10 32 - S8z 7 1.6 SRiKiE - iz X BSFHN—=F - W
Az 7 2D 5REE?(A)0.8 $8(B)1.6 1##(C)2.4 #2(D)3.2 It -
#15%: One pizza divided into 10 pieces, the elder brother ate 1.6 pieces of

pizza, the elder sister eats only half the elder brother, how many pieces of

pizza did they eat?
f#47:1.6+2=08 - 0.8+1.6=24 1% -
( B)21. BSEHIAEREMAETE - B3R 15 354 - BABERES 155 - 5
¥ [E AR ELAE AR S 4435 B2 2(A)30 35 (B)45 35(C)60 35(D)15 3 -
#RA7:15+15+15=45 3§ -
(B)22.5 SfA%M 4 S 136 - 4 SMEMN 5 2B 152 % - —alEw
HEN—SNEyEHLZ /'\§7(A)28 % (B)32 %(C)36 (D)24 % -
BEMT:(136+152)+(5+4)=288+9=32 -
( A)23.33X66+99%x22=0x121 - O="
(A)36 (B)33 (O)39 (D)42
BEAT:3X11X6X11+9X11Xx2x11=10%x11x11=>0=18+18=36 "
(A)24. NEER) 40 ARBOES - 218 11 SEHINE - 212 27)%5@ AN

BRI - NEEBEARA)2 /AE(B)% ARCQ)E ARD)B AR -

8
40

fEAT40-11-27=2 1R -
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( B)25.68.6 WTMIEIF 6 2 T0UHF 6 RHI%MHE?

(A)10 15 (B)100 15 (O)1 & (D)1000 1 -
fEMr:60+0.6=100 15 -
— - FIEE(BE 25 9)
1. BNEEF - SREBE=—(EHFHEM - ERIBIZ 174 ~ 234 - 260 - 226 - UEE
FRRIEZN?
(174+234+260+226)+3=894+3=298
298-174=124 - 298-234=64 - 298-260=38 : 298-226=72
ZMNEHFDRIZ(64)(72)(38)~(124) -
2. BEF1-3-4-5-6-7 -8 - 9HBEHF nAIBAZREA - BT KEH=1E
I INEEZREBZE 16 - A IRIE— 82 2ol el ?
#ll5%: There are eight numbers 1,3,4,5,6,7,8,9 , respectively, fill in the spaces, the

sum of each line and each column of three numbers are 16, please think about

how to do?
*
16=1+9+6=1+8+7=3+5+8=3+4+9
HANEFMNENABIT -
3 5 8
4 | *x | 7
9 6 1
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